
CODICE DESCRIZIONE MODELLO
CAG000041193 VITE CAVALLETTO ALA AZZURRA 350/650
CAG000041196 NOTTOLINO DI ARRESTO 907 IE
CAG000041852 ANTIVIBRANTE SS 750
CAG000041872 GOMMINO ALA AZZURRA 350
CAG000041875 GOMMINO POSTERIORE ALA AZZURRA 350
CAG000041875 GOMMINO POSTERIORE ALA AZZURRA 350
CAG000041876 PARAFANGO POSTERIORE ALA AZZURRA 350/650
CAG000041951 SUPPORTO PEDANA SINISTRO ALA AZZURRA 650
CAG000041952 PIASTRA PORTAPEDANA DESTRA ALA AZZURRA 350
CAG000041952 PIASTRA PORTAPEDANA DESTRA ALA AZZURRA 350
CAG000041953 VITE TSPEI M12X35*ZN*10K ALA AZZURRA 350
CAG000041953 VITE ALA AZZURRA 350
CAG000041954 PEDANA DESTRA ALA AZZURRA 350/650
CAG000041983 VITE ALA AZZURRA 350
CAG000041983 VITE ALA AZZURRA 350
CAG000042058 CORONA Z=41 ALA AZZURRA 650
CAG000042058 CORONA Z=41 ALA AZZURRA 650
CAG000042314 MANUBRIO ALA AZZURRA 350
CAG000042314 MANUBRIO ALA AZZURRA 350
CAG000042315 TRASMISSIONE COMANDO FRIZIONE ALA AZZURRA 350
CAG000042331 ASTINA CON UNIBALL
CAG000042335 LEVA CAMBIO ALA AZZURRA 350
CAG000042335 LEVA CAMBIO ALA AZZURRA 350
CAG000042341 POMPA FRENO POSTERIORE ALA AZZURRA
CAG000042341 POMPA FRENO POSTERIORE ALA AZZURRA
CAG000042463 TUBO SCARICO SINISTRO TESTA VERTICALE ALA AZZURRA 350
CAG000042463 TUBO SCARICO SINISTRO TESTA VERTICALE ALA AZZURRA 350
CAG000042470 PROTEZIONE ANTERIORE SCARICO ALA AZZURRA
CAG000042470 PROTEZIONE ANTERIORE SCARICO ALA AZZURRA
CAG000042905 BOBINA A.T. ELEFANT 350
CAG000042907 MICROINTERRUTTORE ALA AZZURRA 350/650
CAG000042921 FANALE POSTERIORE ALA AZZURRA
CAG000042921 FANALE POSTERIORE ALA AZZURRA
CAG000042924 GRUPPO OTTICO ANTERIORE ALA AZZ.  E 900 SS
CAG000042930 SUPPORTO PROIETTORE ANTERIORE ALA AZZURRA 350/650
CAG000042933 INDICATORE DIREZIONE ANTERIORE SINISTRO ALA AZZURRA 350
CAG000042974 TRASMISSIONE GAS ALA AZZURRA 350
CAG000043129 TRASMISSIONE COMPLETA CONTAGIRI ALA AZZURRA 350/650



CAG000043141 RINVIO AD ANGOLO CONTAKM ALA AZZ.350/650 SS 750
CAG000043142 PIASTRINA RINVIO CONTAKM ALA AZZURRA 350/650
CAG000043144 CONTACHILOMETRI ALA AZZURRA 350/650
CAG000043208 GRUPPO PRINCIPALE CAVI ALA AZZURRA 350/650
CAG000043209 GRUPPO CAVI FANALE POSTERIORE ALA AZZURRA 350/650
CAG000043217 CAVETTO BULBO OLIO ALA AZZURRA 350/650
CAG000043366 GRUPPO CAVI FANALE ANTERIORE ALA AZZURRA 350/650
CAG000043412 CONTAGIRI ALA AZZURRA 650
CAG000043654 KIT ADESIVI PER SERBATOIO GRIGIO ALA AZZURRA 350
CAG000043654 KIT ADESIVI PER SERBATOIO GRIGIO ALA AZZURRA 350
CAG000043670 ADESIVO DESTRO CUPOLINO GRIGIO ALA AZZURRA 350
CAG000043670 ADESIVO DESTRO CUPOLINO GRIGIO ALA AZZURRA 350
CAG000043671 ADESIVO SINISTRO CUPOLINO GRIGIO ALA AZZURRA 350
CAG000043671 ADESIVO SINISTRO CUPOLINO GRIGIO ALA AZZURRA 350
CAG000043692 ADESIVO CARENATURA ALA AZZURRA 350
CAG000043692 ADESIVO CARENATURA ALA AZZURRA 350
CAG000043698 PIASTRINA ALA AZZURRA 350
CAG000043765 CARENATURA POSTERIORE ROSSA ALA AZZURRA 350/650
CAG000043766 CARENATURA POSTERIORE GRIGIA ALA AZZURRA 350/650
CAG000044084 GRUPPO CAVI SPIE ALA AZZURRA 350/650
CAG000044097 VITE DI REGISTRO PROIETTORE SS 750
CAG000044284 GUARNIZIONE FANALE ANTERIORE ALA AZZURRA 350/650
CAG000044996 BILANCIERE CHIUSURA CAVALLETTO LATERALE ALA AZZURRA 350
CAG000046233 FASCETTA FISSAGGIO TUBO DI SCARICO ALA AZZURRA 350
CAG00041955 PEDANA SINISTRA ALA AZZURRA 350/650
CAG08A0067997 VITE 5X16 748/996
CAG360120SP TRASMISSIONE COMANDO FRIZIONE
CAG60N102463 VITE M4X14 ELEFANT 750/900
CAG60N102505 VITE 6X12 M600, SS
CAG60N102587 VITE M10X45 SS 900
CAG60N115031 DADO 4X0,7 H3 ELEFANT 750
CAG60N115035 DADO 8X1,25 SS 900
CAG800023124 ANELLO DI TENUTA D58,89-D53,65 ELEFANT 750/900
CAG800031492 ROSETTA DI SPESSORE ALA AZZURRA 650
CAG800033662 GOMMINO ANTIVIBRANTE  D20-D13-D6-L13 ELEFANT 750/900
CAG800033690 MOLLETTA ELEFANT 750/900
CAG800034657 VITE AUTOFILETTANTE 2,9X19 ELEFANT 900, RIVER
CAG800036334 PERNO VALVOLA SCARICO CR 125 1992/1993
CAG800036879 DADO SPECIALE M10X1,5-CH8-D15 ELEFANT 350



CAG800037292 VITE TCIC M5X0,8-L50 ALETTA, W-16, ELEFANT 900
CAG800038439 PERNO FERMO SELETTORE
CAG800040366 INTERMITTENZA FRECCIE ALA AZZURRA 350
CAG800040366 INTERMITTENZA FRECCIE ALA AZZURRA 350
CAG800040788 GHIERA LAMPADINA
CAG800041871 GOMMINO FISSAGGIO ATTACCO POST. SIN. ALA AZZURRA 650
CAG800041942 BULLONE ATTACCO MOTORE
CAG800041950 MOLLA ALA AZZURRA 350/650
CAG800041973 FILTRO ARIA ALA AZZURRA
CAG800042022 DADO FISSAGGIO CORONA ELEFANT 900
CAG800042353 GOMMINO DI PROTEZIONE ALA AZZURRA 350/650
CAG800042395 PROTEZIONE MANUBRIO ALA AZZURRA 350/650
CAG800042426 PARAFANGO ANTERIORE ROSSO TL 350
CAG800042468 GUARNIZIONE SCARICO ALA AZZURRA 350
CAG800042544 PIASTRA FISSAGGIO INTERRUTTORE ALA AZZURRA 350/650
CAG800042776 MOLLA PEDANA DESTRA ELEFANT 350/650
CAG800042864 GUIDA CATENA ELEFANT 350/650
CAG800042893 MANICOTTO ELEFANT 750
CAG800042896 BOCCOLA ROTAZIONE GAMBA LATERALE ELEFANT 350/650
CAG800042927 CORNICE FANALE ANTERIORE CEV3041777
CAG800042928 VITE FISSAGGIO GHIERA SS 600/750 1997
CAG800042986 MANIGLIONE POSTERIORE ALA AZZURRA
CAG800042986 MANIGLIONE POSTERIORE ALA AZZURRA
CAG800043137 SUPPORTO STRUMENTI CON SPIE ALA AZZURRA 350/650
CAG800043143 ANELLO ANTIVIBRANTE CONTAGIRI ALA AZZURRA 350/650
CAG800043151 ANTIVIBRANTE OROLOGIO ALA AZZURRA 350/650
CAG800043184 TRASMISSIONE CONTAKM COMPLETA ALETTA ORO 125
CAG800043272 SUPPORTO SPECCHIO RETROVISORE ALA AZZURRA 350
CAG800043272 SUPPORTO SPECCHIO RETROVISORE ALA AZZURRA 350
CAG800043330 ROSETTA DESTRA ALA AZZURRA 650
CAG800043358 TESTA STERZO ALA AZZURRA 350/650
CAG800043391 SERRATURA ANTIFURTO ALA AZZURRA 350
CAG800043432 FLANGIA PARASTRAPPI
CAG800043790 DADO AUTOFILETTANTE REGOLAZIONE FARO SS 900
CAG800044020 TRASMISSIONE SUPERIORE GAS
CAG800044232/44 CORONA Z=44 ELEFANT 650
CAG800044232/44 CORONA Z=44 ELEFANT 650
CAG800044237 TAMPONE PARASTRAPPI ELEFANT 350/650
CAG800044315 ANCORAGGIO PER CHIAVISTELLO ALA AZZURRA 350/650



CAG800045026 TRASMISSIONE COMPLETA CONTAGIRI ELEFANT 350/650
CAG800045039 CONTAGIRI ELEFANT 350/650
CAG800045165 GANCIO FISSAGGIO ELASTICO BATTERIA ELEFANT 350
CAG800045179 ANTIVIBRANTE SUPPORTO RADIATORE
CAG800045186 GRIGLIA CONVOGLIATORE DESTRA ELEFANT 350/650
CAG800045195 VITE FORATA TUBI OLIO ELEFANT 350/650
CAG800045214 LEVA POMPA FRENO
CAG800045270 TAPPO CHIUSURA FORO MORSETTO ELEFANT 750 1989
CAG800045410 LEVA CAMBIO ELEFANT 650
CAG800045427 MOLLA ESTERNA CAVALLETTO LATERALE ELEFANT 750/900
CAG800045447 MOZZO RUOTA ANTERIORE ELEFANT 350/650
CAG800046173 BUSSOLA CON COLLARE
CAG800046237 GHIERA FISSAGGIO TUBO SCARICO ALA AZZURRA 350/650
CAG800046278 LENTE FANALE POSTERIORE ELEFANT 350
CAG800046476 VITE  FISSAGGIO PORTASPAZZOLA TCEI M-10 X 20 ALA AZZURRA 650
CAG800046521 PARAMOTORE ELEFANT 350/650
CAG800046641 FILTRO ARIA ELEFANT 350
CAG800046644 LEVA FRENO ANTERIORE ELEFANT 350
CAG800046664 KIT REVISIONE PERNO LEVA FRENO ANTERIORE ELEFANT 350
CAG800047129 COMANDO FRIZIONE ELEFANT 350
CAG800047156 LENTE INDICATORE DIREZIONE ELEFANT 350
CAG800047224 TRASMISSIONE COMPLETA GAS ALETTA ORO 125
CAG800047226 GRUPPO REVISIONE GUARNIZIONI POMPA ELEFANT 750
CAG800047230 GRUPPO CAVI PER SPIE ELEFANT  350/650
CAG800047307/48 CORONA Z=48 ELEFANT 650
CAG800047307/48 CORONA Z=48 ELEFANT 650
CAG800047366 MASCHERINA PROTEZIONE TUBO SCARICO ELEFANT 350/650
CAG800047521 TRASMISSIONE COMANDO FRIZIONE ELEFANT 350/650
CAG800047523 TRASMISSIONE COMANDO STARTER ELEFANT 350
CAG800047524 TRASMISSIONE COMPLETA COMANDO GAS ELEFANT 350
CAG800047524 TRASMISSIONE COMPLETA COMANDO GAS ELEFANT 350
CAG800047564 TRASMISSIONE GAS ELEFANT 350
CAG800047818 SENSORE PRESSIONE OLIO ELEFANT 750
CAG800047824 PERNO ROTAZIONE LEVA STARTER TCI M6X1-L36,5 ELEFANT 350/650
CAG800047846 CAVETTO ELEFANT 750/1989
CAG800048249 CORONA Z=50 ELEFANT 350
CAG800048249 CORONA Z=50 ELEFANT 350
CAG800048503 CORONA Z=41 ALETTA ORO 125
CAG800048773 VITE TE  M10X1,5-CH15-L20 ELEFANT 750/900 AC



CAG800048802 GOMMINO ANTICALORE ELEFANT 750
CAG800049046/B ADESIVO "CAGIVA" BIANCO ELEFANT 350
CAG800049046/B ADESIVO "CAGIVA" BIANCO ELEFANT 350
CAG800049046/N ADESIVO "CAGIVA" NERO ELEFANT 350
CAG800049046/N ADESIVO "CAGIVA" NERO ELEFANT 350
CAG800050153 PIASTRINAPER FASCETTA FISS. BATTERIA
CAG800050616 PROTEZIONE CALORE ELEFANT 350/650/750
CAG800050920 TRASMISSIONE COMANDO STARTER
CAG800051218 TRASMISSIONE CONTAGIRI ELEFANT 650
CAG800051974 MOLLA RICHIAMO PEDANA APPOGGIAPIEDI ELEFANT 750/900
CAG800051992 BUSSOLA
CAG800051997 BUSSOLA
CAG800052752 TRASMISSIONE GAS ELEFANT 750 87/89
CAG800053702 INDICATORE DIREZIONE ANTERIORE DESTRO ELEFANT 900
CAG800055134 DADO A GRAFFETTA M5X0,8 ELEFANT 750
CAG800055380 COPPIA BOCCOLE FISAGGIO CARENATURA ELEFANT 750
CAG800055579 GRIGLIA SINISTRA RADIATORE ELEFANT 750
CAG800055579 GRIGLIA SINISTRA RADIATORE ELEFANT 750
CAG800056800 RULLO CATENA ELEFANT 900
CAG800056841 PROTEZIONE CARENA ELEFANT 750 ELEFANT 750
CAG800057795 ASTINA COMANDO POMPA FRENO POST. ELEFANT 900 1995
CAG800058386 TELAIETTO SOSTEGNO FANALE ELEFANT 750 BIF.
CAG800058685 TRASMISSIONE COMANDO GAS ELEFANT 900 ie 1990
CAG800059039 KIT REVISIONE POMPA FRENO ANTERIORE ELEFANT 750
CAG800059063 TRASMISSIONE FLESSIBILE CONTACHILOMETRI ELEFANT 750
CAG800059063 TRASMISSIONE FLESSIBILE CONTACHILOMETRI ELEFANT 750
CAG800059750 DISTANZIALE IN GOMMA D10-D5,2-SP7 ELEFANT 750/900
CAG800061830 ANELLO DI TENUTA 28X47X7 ELEFANT 900
CAG800061831 FLANGIA PORTACORONA ELEFANT
CAG800061837 VITE TSE M10X1,25-L32-CH6 ELEFANT 900
CAG800062568 VITE FISSAGGIO SUPPORTO PEDANE MONSTER 750
CAG800062799 DISTANZIALE D14-D8,5-06.5-SP.5 ELEFANT 750
CAG800062803 VITE ELEFANT 900
CAG800062850 SUPPORTO DESTRO GRIGIO PEDANA
CAG800063150 DADO ELASTICO ELEFANT 900
CAG800063161 ROSETTA IN NYLON ELEFANT 900
CAG800063442 GOMMINO APPOGGIO STRUMENTI ELEFANT 750/900
CAG800064438 ANELLO DI TENUTA 25X42X7 RUOTA ANTERIORE CANYON, ELEFANT 750
CAG800064614 ROSETTA D35-D17-SP2,5 ELEFANT 750/900



CAG800064629 BUSSOLA CRUSCOTTO ELEFANT 900
CAG800064630 VITE AUTOFILETTANTE ELEFANT 750/900
CAG800065293 VITE ELEFANT 900
CAG800065385 FASCETTA FISSAGGIO SILENZIATORE ELEFANT 900
CAG800065535 VITE ELEFANT 900/MV
CAG800066179 TUBETTO 851/F-4 1000
CAG800066460 STAFFA ATTACCO PANNELLO LATERALE DESTRO ELEFANT 750/900
CAG800066776 COMANDO GAS 900 IE, 907 IE, 888
CAG800066794 GRUPPO REVISIONE GUARNIZIONI PINZA ANTERIORE ELEFANT 750
CAG800066795 GRUPPO REVISIONE CUFFIE PINZA FRENO ELEFANT 750 , CANYON
CAG800067611 FERMO PER BUSSOLA ELEFANT 900
CAG800067611 FERMO PER BUSSOLA ELEFANT 900
CAG800067997 VITE TEF M5X0,8-CH8-L12 ELEFANT 750/900
CAG800068121 PROTEZIONE MARMITTA ELEFANT 900 1995
CAG800068306 ADESIVO REGOLAZIONE CATENA ELEFANT 750/900
CAG800068307 ADESIVO PRESSIONE PNEUMATICI ELEFANT 900
CAG800068605 TAPPO CONTRAPPESO ELEFANT 900
CAG800068895 VITE FORATA ELEFANT , GRAN CANYON
CAG800070329 SCODELLINO ELEFANT 750
CAG800070332 RASCHIAPOLVERE ELEFANT 750, NAVIGATOR
CAG800071573 FILTRO ARIA ELEFANT 900
CAG800071578 FASCETTA PER CAVI MANUBRIO  L=70 GRAN CANYON 900
CAG800071613 TRASMISSIONE COMANDO FRIZIONE E STARTER
CAG800072085 KIT ANELLI FORCELLA ELEFANT 900 93/97
CAG800072387 TESTA STERZO ELEFANT 900 93/97
CAG800073077 CONTRAPPESO PER MANUBRIO
CAG800074166 PROTEZIONE PERNO RUOTA ANTERIORE ELEFANT 900
CAG800075360 RACCORDO ELEFANT 750/900
CAG800075709 CUPOLINO PORTAFARO BORDEAUX ELEFANT 900 IE
CAG800077050 ANTIVIBRANTE D24-D13-SP10 GRAN CANYON 900
CAG800081869 SUPPORTO OROLOGIO ELEFANT 900
CAG800087446 MORSETTO PER FASCETTA GRAN CANYON 900
CAG800088472 LEVA COMANDO FRIZIONE GRAN CANYON 900
CAG800088570 GOMMINO ANTIVIBRANTE D25-D21-D20-D12-SP17 GRAN CANYON 900
CAG800089302 ANTIVIBRANTE D=30-22-12,L=3+10.5+3 RAPTOR , G. CANYON
CAG800095128 ANTIVIBRANTE GRAN CANYON
CAG8000B2714 DADO FISSAGGIO CORONA ELEFANT 900
CAG800L41954 PEDANA APPOGGIAPIEDI DESTRA ALA AZZURRA 650
CAG800L41955 PEDANA APPOGGIAPIEDI SINISTRA ALA AZZURRA 350



CAG800L42426 PARAFANGO ANTERIORE ALA AZZURRA
CAG800L42817 SUPPORTO PEDANA SINISTRO ELEFANT 350/650
CAG800L42818 SUPPORTO PEDANA DESTRO ELEFANT 350/650
CAG800L50688 TELAIETTO SUPPORTO FANALE ANTERIORE ELEFANT 350/650
CAG800L57137 LEVA COMANDO FRENO POSTERIORE
CAG80A032070 RASAMENTO SP. 0,3 ELEFANT 750/900
CAG80A043325 RASAMENTO SPESSORE 0,20 ALA AZZURRA 350
CAG80A050186 PARAMANI DESTRO AZZURRO ELEFANT 750
CAG80A050186 PARAMANI DESTRO AZZURRO ELEFANT 750
CAG80A058899 VITE TSEI M5X0,8-CH3-L12 ELEFANT 750
CAG80A059572 VITE ELEFANT 750
CAG80A065029 PARAMANI SINISTRO ANTRACITE ELEFANT 900
CAG80A065293 VITE TSEI M5X0,8-CH3-L18 ELEFANT 900
CAG80A067346 CONTRAPPESO ELEFANT 750
CAG80A067346 CONTRAPPESO ELEFANT 750
CAG80B043325 RASAMENTO SPESSORE 0,30 ALA AZZURRA 350
CAG80C005893 ROSETTA MONSTER
CAG80C032070 RASAMENTO D35-D15,5 ELEFANT 750/900
CAG80C043325 RASAMENTO SPESSORE 1,30 ALA AZZURRA 350
CAG80D043325 RASAMENTO SPESSORE 1,40 ALA AZZURRA 350
CAG80E032070 RASAMENTO DA 1 ELEFANT 900
CAG80E043325 RASAMENTO SPESSORE 1,50 ALA AZZURRA 350
CAG80F043325 RASAMENTO SPESSORE 1,70 ALA AZZURRA 350
CAG80F050186 PARAMANO DESTRO COLORE BIANCO ELEFANT 750
CAG80N107321 VITE M4X8 748/916 BIP.
CAG8A0057933 DISTANZIALE D25-D10,5 ELEFANT 750/900
CAG8A0062803 VITE TCEI M8X1,25-L100 VEDI 8D00B2684 ELEFANT 900
CAG8A0065535 VITE M5X0,8-L14 ELEFANT 900
CAG8A0066531 VITE TCEI M5X0,8-CH4-L25 ELEFANT 750/900 AC
CAG8A0067649 VITE TCIC  M5X0,8 ELEFANT 750/900 AC
CAG8A0074181 COPPIA PASTIGLIE FRENO TOSHIBA ELEFANT 900
CAG8A0074181 COPPIA PASTIGLIE FRENO TOSHIBA ELEFANT 900
CAG8B0069056 VITE M8X1,25-CH12-L15 ELEFANT 750/900
CAG8B00B4221 VITE TBEI M5X0,8-CH3-L14 ELEFANT 900/MV
CAG8H0067545 VITE TEF M6X1-CH8-L12 GRAN CANYON 900
DUC000061172 ELASTICO FISSAGGIO BORSA ATTREZZI 750 SS , 900 SS 2003
DUC012440060 DADO HSS ALBERO ELEFANT 750
DUC015007050 VITE FISSAGGIO PORTATARGA E FANALE INDIANA 750
DUC015092280 GUARNIZIONE SPESSORE 0,2 748



DUC020470105 PARAOLIO 22X35X7 ALA AZZURRA 350
DUC035183200 SERBATOIO COLORE AMARANTO INDIANA 350
DUC035183200 SERBATOIO COLORE AMARANTO INDIANA 350
DUC036127155 MOLLA ELEFANT 650
DUC036127195 GUARNIZIONE VASCHETTA CARBURATORE ELEFANT 750
DUC036137350 TAPPO COMPLETO SS 900
DUC036154340 INTERRUTTORE STOP FRENO ANTERIORE INDIANA 350
DUC036184030 TUBO COLLETTORE INDIANA 750
DUC036191950  PORTAPACCHI INDIANA 750
DUC036191980 MANIGLIA POSTERIORE PORTAPACCHI INDIANA 750
DUC036391960 MANIGLIA POSTERIORE SINISTRA ALA AZZURRA 650
DUC036391990 MANIGLIA POSTERIORE ALA AZZURRA 650
DUC036547400 PISTONE COMPLETO SELEZIONE B ALA AZZURRA 650
DUC036916090 PIGNONE Z=14 ELEFANT 750
DUC036938520 BOBINA INDIANA 750
DUC036938610 CENTRALINA ELETTRONICA MONSTER 600
DUC037029020 ALBERO DISTRIBUZIONE CILINDRO ORIZZONTALE ELEFANT 900
DUC037037350 TAPPO FORCELLA PASO 750
DUC037039742 GRUPPO REVISIONE PERNI PASO 750
DUC037039770 KIT REVISIONE PINZA FRENO POSTERIORE PASO 750
DUC037039790 RICAMBIO PERNI PASO 750
DUC037067240 VITE M6X12 750 SPORT
DUC037084005 GUARNIZIONE SCARICO SS 900
DUC037092293 COPERCHIO VALVOLE ELEFANT 900
DUC037092390 GUIDAVALVOLA SCARICO PASO 750
DUC037092395 GUIDAVALVOLA SCARICO MAGGIORATO 0,03 ALA AZZURRA 350
DUC037092396 GUIDAVALVOLA SCARICO MAGGIORATO 0,06 PASO 750
DUC037098610 FILTRO ARIA MONSTER 600
DUC037099013 VITE 6X20 NERA SS 750
DUC037141445 GOMMINO DI PROTEZIONE PASO 750
DUC037184030 TUBO COLLETTORE INDIANA 750
DUC037191740 MOLLETTA DESTRA INDIANA 750
DUC037191745 MOLLETTA SINISTRA INDIANA 750
DUC037592170 BILANCERE DI APERTURA ELEFANT 900
DUC037592640 CAPPELLOTTO CON CUSCINETTO ELEFANT 900
DUC037780238 CORONA Z=38 PASO 750
DUC040016530 DISCO FRIZIONE IN FERRO 250/350/450
DUC040016670 DISCO FRIZIONE GUARNITO 250/350/450
DUC040017030 ANELLO OR ELEFANT 350



DUC040029040 ROSETTA MONSTER 900
DUC040402390 DADO SCARICO INDIANA 750
DUC060816090 PIGNONE Z=15 MONO 250
DUC061051101 KIT GUARNIZIONI E PARAOLII SCRAMBLER 450
DUC061951101 KIT GUARNIZIONI E PARAOLII DUCATI 500
DUC061984015 SEMICONO MARMITTA
DUC061984015 SEMI BOCCOLE MARMITTA SS 900
DUC061992150 MOLLA CHIUSURA BILANCERE ALA AZZURRA 350
DUC065916550 MOLLA FRIZIONE ALA AZZURRA 350
DUC065916555 MOLLA FRIZIONE SS 900
DUC065917110 CILINDRO VERTICALE ALA AZZURRA 350
DUC065917113 CILINDRO VERTICALE ALA AZZURRA 350
DUC065917210 CILINDRO ORIZZONTALE ALA AZZURRA 350
DUC065917213 CILINDRO ORIZZONTALE ALA AZZURRA 350
DUC065937040 TAPPO IN GOMMA MONSTER
DUC065937140 TESTA STERZO TL 350
DUC065937610 BASE CON PERNO TL 350
DUC065947400 PISTONE COMPLETO ALA AZZURRA 350
DUC065947490 BUSTA SEGMENTI ALA AZZURRA 350
DUC065992110 VALVOLA ASPIRAZIONE ALA AZZURRA 350
DUC066016105 PIASTRINA FERMA PIGNONE ELEFANT 650
DUC066016410 PERNO COMANDO FRIZIONE TL 350
DUC066016530 DISCO CONDOTTO ALA AZZURRA 350
DUC066016570 ANELLO DI FERMO ALA AZZURRA 350
DUC066016630 SPINGIDISCO ALA AZZURRA 350
DUC066016670 DISCO CONDUTTORE ALA AZZURRA 350
DUC066016690 DISCO CONDUTTORE FRONTALE ALA AZZURRA 350
DUC066016875 CHIODO FISSAGGIO CAMPANA FRIZIONE
DUC066029090 CINGHIA DISTRIBUZIONE ALA AZZURRA 350
DUC066049053 TAPPO SCARICO OLIO CON CALAMITA ALA AZZURRA 350
DUC066049183 TAPPO ISPEZIONE LIVELLO OLIO DUCATI 350
DUC066049268 PARAOLIO ALBERO MOTORE 25X47X7 ALA AZZURRA 350
DUC066049270 PRIGIONIERO FISSAGGIO CILINDRO/TESTA SS 350
DUC066049800 TAPPO OLIO CON FILTRO DUCATI 350
DUC066049920 GUARNIZIONE CAPPELLOTTO SFIATO ELEFANT 900
DUC066050817 SERIE SPAZZOLE MOTORINO AVVIAMENTO ELEFANT 750
DUC066051101 KIT GUARNIZIONI E PARAOLII ALA AZZURRA 350
DUC066091275 FILTRO ARIA ALA AZZURRA
DUC066092110 VALVOLA ASPIRAZIONE INDIANA 750



DUC066092120 VALVOLA SCARICO ALA AZZURRA 650
DUC066092183 BILANCERE DI CHIUSURA ELEFANT 900
DUC066092240 PERNO BILANCERE ELEFANT 900
DUC066092310 GUARNIZIONE CAPPELLOTTO DUCATI
DUC066092570 ANELLO OR ALA AZZURRA 350
DUC066116573 ANELLO DI FERMO ALA AZZURRA 650
DUC066116630 SPINGIDISCO ALA AZZURRA 650
DUC066117010 GUARNIZIONE CILINDRO VERTICALE ELEFANT 750
DUC066149170 TAPPO CARICO OLIO 22x1,5 DUCATI
DUC066154175 TUBO FLESSIBILE INFERIORE
DUC066192390 GUIDAVALVOLA ALA AZZURRA 350
DUC066192396 GUIDAVALVOLA ASPIRAZIONE MAGGIORATO 0,06 PASO 750
DUC066438455 CABLAGGIO CENTRALE TL 350
DUC066454340 LEVA FRENO ANTERIORE TL 350
DUC066454740 LEVA FRIZIONE NERA TL 350
DUC066516703 DISCO COMANDO FRIZIONE PASO 750
DUC066529315 DISTANZIALE ELEFANT 350
DUC066716550 MOLLA FRIZIONE ALA AZZURRA 350
DUC066717110 CILINDRO VERTICALE ALA AZZURRA 650
DUC066717210 CILINDRO ORIZZONTALE ALA AZZURRA 650
DUC066747490 BUSTA SEGMENTI ALA AZZURRA 650
DUC066883050 ELETTROVALVOLA TL 600
DUC066883060 CENTRALINA RISERVA BENZINA TL 600
DUC067016140 ROSETTA DI RASAMENTO ELEFANT 750
DUC067016141 ROSETTA DI RASAMENTO SP. 1 ELEFANT 750
DUC067016170 RONDELLA DI RASAMENTO SP. 0,8 ELEFANT 750
DUC067016172 RONDELLA DI RASAMENTO SP. 1,2 ELEFANT 750
DUC067016730 PERNO COMANDO FRIZIONE PASO 750
DUC067038720 TRASMISSIONE CONTAGIRI SS 350
DUC067049360 TAPPO PASSAGGIO OLIO SS 900
DUC067085796 DECALCOMANIA "DESMO" SS 350
DUC067092010 DADO SS 750
DUC075516105 ANELLO DI TENUTA ALA AZZURRA 350
DUC075549265 PARAOLIO 20X26X4 ELEFANT 900
DUC075592295 GUARNIZIONE COPERCHIO VALVOLE DUCATI
DUC075949750 INTERRUTTORE SPIA FOLLE ALA AZZURRA 350/650
DUC076527426 LEVETTA COMANDO POMPA INDIANA 350
DUC076946520 BOBINA A.T. ELEFANT 350
DUC076985480 VITE ALA AZZURRA 350



DUC079537810 COPPIA PASTIGLIE FRENO PINZA SCARAB DUCATI EPOCA
DUC079539656 COPPIA PASTIGLIE FRENO PASO 750, BMW
DUC079540060 GANASCIA FORCELLONE ALA AZZURRA 350
DUC079580239 CORONA Z=39 TL 600
DUC079580242 CORONA Z=42 TL 350
DUC079580244 CORONA Z=44 TL 350
DUC079913110 MOLLA RITORNO LEVA 900 SS
DUC079946300 CENTRALINA BOSCH ALA AZZURRA
DUC080137075 ANTIVIBRANTE INDIANA 350
DUC080137077 DISTANZIALE INDIANA 750
DUC080154960 TRASMISSIONE COMPLETA COMANDO GAS TL 600
DUC080154960 TRASMISSIONE COMPLETA COMANDO GAS TL 600
DUC080154990 TRASMISSIONE COMANDO FRIZIONE TL 600
DUC080154990 TRASMISSIONE COMANDO FRIZIONE TL 600
DUC080238625 TRASMISSIONE CONTACHILOMETRI M.H. 900
DUC080374380 LENTE FANALE POSTERIORE ALA AZZURRA 350
DUC080546408 ALTERNATORE 12V 300W ALA AZZURRA 350
DUC080546413 STATORE ALA AZZURRA
DUC082037805 PINZA FRENO POSTERIORE ALA AZZURRA 350
DUC082039781 CAVALLOTTO BREMBO
DUC085149230 PARAOLIO 28X38X7 ALA AZZURRA 350
DUC090549960 FILTRO OLIO ALA AZZURRA 350
DUC12110221A SPINOTTO PISTONE 888/916
DUC13140141A COPPIA CARBURATORI MIKUNI SS350,400,600,750
DUC16010032A FLANGIA ATTACCO VOLANO PASO 907
DUC17310011A INGRANAGGIO PASO 907
DUC17410011A INGRANAGGIO AVVIAMENTO ELEFANT 900 I.E. G.T.
DUC19010011A DISCO CONDOTTO PASO 750
DUC19110121A DISCO FRIZIONE ELEFANT 900
DUC19110141A DISCO CONDUTTORE ESTERNO ELEFANT 900
DUC19110151A DISCO CONDUTTORE ELEFANT 900
DUC19520023B PISTONCINO 748,996,ST4,M900 '00
DUC19540021A TAMPONE (PUNTALINO INTERRUTTORE STOP) MONSTER
DUC21010031A VALVOLA ASPIRAZIONE ELEFANT 900
DUC21110031A VALVOLA SCARICO ELEFANT 900
DUC21110152A VALVOLA SCARICO DIAMETRO 35 SS 750
DUC24010081A COPERCHIO VALVOLE CON SUPPORTO RADIATORE SS 900
DUC24710021BC COPERCHIO FASE 748/ M900
DUC30310031A GUIDAVALVOLA ASPIRAZIONE SS 900



DUC30310031AB GUIDAVALVOLA ASPIRAZIONE MAGGIORATO 0,03 SS 900
DUC30310031AC GUIDAVALVOLA ASPIRAZIONE MAGGIORATO 0,06 SS 900
DUC30310041AC GUIDAVALVOLA SCARICO MAGGIORATO 0,06 SS 900
DUC30310041C GUIDAVALVOLA SCARICO SS 900
DUC30310041CB GUIDAVALVOLA SCARICO ELEFANT 900
DUC34911031A BOCCOLA FODERO 916
DUC34911041A BOCCOLA STELO 916
DUC37310021A COPERCHIO FORCELLONE MONSTER 900
DUC37310081A COPERCHIO FORCELLONE SS 350
DUC37310231A COPERCHIO FORCELLONE POSTERIORE MONSTER 900
DUC41152001A FILTRO OLIO ELEFANT 350
DUC42020064A GUARNIZIONE 748
DUC43310441B ETICHETTA COLLEGAMENTO TUBI SS 350
DUC43610341AA DECALCOMANIA "DESMODUE" SS 750
DUC43611141A DECALCO FIANCHETTO M 620 IE
DUC43710011A ADESIVO "SUPERBIKE" 851
DUC43810301A ADESIVO "900 SUPERSPORT" 900 SS
DUC44910111A PIGNONE Z=14 ELEFANT 900
DUC44910171A PIGNONE Z=15 ELEFANT 900
DUC46010381A PROTEZIONE DESTRA CARBONIO M 900
DUC46320196A ANELLO OR ALA AZZURRA 350
DUC49410051A CORONA Z=40 SS 350
DUC49410051A CORONA Z=40 907 I.E.
DUC52040011A FANALE ANTERIORE COMPLETO SS 900 SUPERLIGHT
DUC53040011A FRECCIA ANTERIORE DESTRA SS 350
DUC53040021A FRECCIA ANTERIORE SINISTRA SS 350
DUC53840051A INTERMITTENZA MONSTER
DUC53910072A INTERRUTTORE SPIA FOLLE ALA AZZURRA 350/650
DUC53940031B INTERRUTTORE STOP FRENO POSTERIORE MONSTER
DUC53940041B INTERRUTTORE STOP FRENO ANTERIORE 916
DUC53940201A INTERRUTTORE FOLLE 900 M
DUC53940341A MICROINTERRUTTORE MONSTER 620
DUC54040111C REGOLATORE SS 750
DUC55240051A SENSORE ACCENSIONE ELEFANT 900
DUC57510010A FINTA GHIERA DI SCARICO SS 900
DUC57510010A FINTA GHIERA SCARICO 900 SS
DUC58510092A SCATOLA SFIATO 900 SS
DUC59010091A TUBO FILTRO L=85 907 IE
DUC59010471A TUBO IN GOMMA SERBATOIO SS 350



DUC61340041A COPPIA PASTIGLIE FRENO ANTERIORE SS750, MITO-2 125
DUC62440061B POMPA FRENO ANTERIORE 600 SS
DUC65040062A COMMUTATORE DESTRO MONSTER 750
DUC65140061B COMMUTATORE SINISTRO 748/996/998/ST2/ST4
DUC65140062A COMMUTATORE SINISTRO MONSTER 750
DUC65140081A COMMUTATORE SINISTRO 748/996/998/ST2/ST4
DUC65440031A COMANDO GAS ELEFANT E MONSTER 1997
DUC65610121A TUBO COMANDO GAS MONSTER 900/ MITO
DUC67040021B CANDELA CHAMPION A59 GC 851
DUC67040071A CANDELA CHAMPION RA4HC ELEFANT 900 I.E.
DUC68010031C CHIAVELLA 916,996,748,ST4
DUC68510011B COPIGLIA
DUC69921511A PRESSOSTATO OLIO MODELLI DUCATI
DUC70010111A ANTIVIBRANTE SS 750
DUC709112146 VITE FISSAGGIO TENDICATENA INDIANA 750
DUC71110901A BOCCOLA FISSAGGIO SILENZIATORE MONSTER
DUC715021627 VITE 6X18 ELEFANT 900
DUC71610551A DISTANZIALE FISSAGGIO SILENZIATORE MONSTER
DUC71611351A BUSSOLA ST 2006
DUC722761031 VITE INDICATORE SS 350
DUC729431542 GHIERA ELASTIC STOP SS 350
DUC729908FN1 DADO FISSAGGIO SILENZIATORE PASO 750
DUC73710011A CINGHIA DENTATA SS 900
DUC73710021A CINGHIA DISTRIBUZIONE MONSTER 600/750 98
DUC73740242A CINGHIA DISTRIBUZIONE M696
DUC74110211A FASCETTA SINISTRA SUPPORTO PARAFANGO ANT. MONSTER S-4 900
DUC74810081A DADO PERNO RUOTA POSTERIORE M16X1,5 SS 900
DUC74941118B DADO M6 MITO/MONSTER
DUC762700827 ASTUCCIO A RULLINI ELEFANT 750
DUC764001212 GABBIA A RULLI HK1212 350 F3
DUC76410011A GOMMINO ANTIVIBRANTE MONSTER
DUC76410091A GOMMINO PER VALVOLA SS 350
DUC76410901A PASSACAVO SST 125
DUC77150432B VITE 5x20 SS 900
DUC77250341A VITE AUTOFILETTANTE 3,5X12 999
DUC77910011A VITE FISSAGGIO MOTORE M10X242 SS 750
DUC77910211A VITE M8X1X12 SS 750
DUC77910242A VITE COPERCHIO FORCELLONE M8X90 SS 350
DUC77910501A VITE M5X16 SS 750



DUC77950011A VITE SS 900
DUC78020471A TAPPO SCARICO OLIO CON CALAMITA HYPERMOTARD
DUC78610031A GUARNIZIONE CILINDRO VERTICALE ELEFANT 900 I.E.
DUC78610041A GUARNIZIONE CILINDRO VERTICALE ELEFANT 900
DUC78610061A GUARNIZIONE CILINDRO VERTICALE ELEFANT 900
DUC78610101A GUARNIZIONE CILINDRO VERTICALE ELEFANT 750
DUC78810063A GUARNIZIONE COPERCHIO POMPA ACQUA 916
DUC78810131A GUARNIZIONE SPESSORE 0,20 ELEFANT 900
DUC78810322A GUARNIZIONE COPERCHIO VALVOLE SS 900
DUC78810551A GUARNIZIONE  COPERCHIO LATO FRIZIONE MONSTER
DUC79120031A KIT GUARNIZIONE SMERIGLIO 900 SS MONSTER
DUC79910121A MOLLA PISTONCINO COMANDO FRIZIONE PASO 750
DUC79914991A MOLLA RICHIAMO PEDANA ANTERIORE M 620,750,900
DUC81510051A NIPPLO FISSAGGIO TUBO SS 750
DUC82110282B PERNO ROTAZIONE SERBATOIO MONSTER
DUC82610111A PIASTRINA FERMA PIGNONE ST2
DUC82712801A PIASTRINA DESTRA CARENA 999
DUC82712811A PIASTRINA SINISTRA CARENA 999
DUC82911091B ANELLO PASSATUBO MONSTER
DUC84110011B SCODELLINO NERO 900 SS
DUC84110022A SCODELLINO FRIZIONE SS 900
DUC85040091A FISSAGGIO RAPIDO SS 350
DUC85040161A INSERTO FILETTATO MONSTER 750
DUC85040821A DADO ELASTICO ELEFANT 900
DUC85610021A ROSETTA DI DIVISIONE PULEGGE ELEFANT 900
DUC85611361A ROSETTA IN NYLON 5,2X11X0,5 SS 750
DUC86610371A TAMPONE SERBATOIO MONSTER
DUC87210011A TAPPO IN GOMMA CHIUSURA TELAIO SS  900
DUC87210151A TAPPO SEMIMANUBRIO SS 900
DUC87210281A TAPPO MANUBRIO MONSTER 620
DUC87510141A TUBO RITORNO OLIO SS 750
DUC87510161A TUBO MANDATA OLIO SS 750
DUC87710371A TUBETTO OLIO FRENO ANTERIORE SS 750
DUC87710431A TUBO POMPA COLLETTORE ASPIRAZIONE MONSTER 750
DUC88240011A ANELLO ELASTICO SS 750
DUC88640091A ANELLO DI TENUTA PASO 750
DUC88640111A GUARNIZIONE OR SS 900
DUC93010021A PARAOLIO FORCELLA 41X54X11 SS 350
DUC93040021A PARAOLIO 8X16X7 ELEFANT 900



DUC93040191A PARAOLIO FORCELLA 40X52X10/10,5 MONSTER , MITO
DUC937711524 PARAOLIO 15X24X5 ALA AZZURRA 350
DUC937831624 PARAOLIO 16X24X4 851
DUC937832552 PARAOLIO 25-52-7 SS 900
DUC937842030 PARAOLIO 20X30X7 ALA AZZURRA 350
DUC937851830 PARAOLIO 18X30X7 ELEFANT 900
DUC937852035 PARAOLIO 20X35X7 ALA AZZURRA 350
DUC938232018 ANELLO OR 900,996,SS
DUC938232021 ANELLO OR DUCATI
DUC938232037 ANELLO OR DUCATI
DUC938232056 ANELLO OR ELEFANT 900
DUC969637AAA PROTEZIONE SERBATOIO CARBONIO DUCATI CORSE MONSTER


